gbooooog

googoboobooboobobboobooboobuoobooobooboobooboobboboo
gboboagboodaboobooboobooboobood
obooboboooboobooooobooooboooobobooboooboobooooboobooooboooogoono

e JOODOO

000 ROOOOCOOOOOKOOOOOOOOO K=ROOOOOOK=COOOOUOOOOO«O
O000aceROaO0O0000O0DO0ODOO000000O0DDODO0O0eeKOOOOODODOOOO 00O
00 (scalar) D0OO0O0ODO0OOKOD (leld) 0000000000 OO0ODO0OOODOOOOOOOOO

00000 vOoOoOoooooUooooo(ooo)ooo

o O0v4+weV (vyweV)
o 000000 eV (aeK)

000000v,w,ueV, o, KO0O00O

cv+w=w+v (0O0O0DO)

v+ (w+u)=w+w)+uw (O0O0ODO)
av+w)=av+aow (0O000)
(a+Blv=av+pv (0OOD)
o(fv) = (ef)p (0DDOD)

o lv=w

o

@]

[¢]

o]

oooooooo

ocv+0=v,0v=0

ov+(—v)=0
o000 oCO0O0ooOoUboUOOUbOOODODOUOD)D0D0w=—O0O0O0OO0O0O0OOVOOOOOO
00000000 KOODOOoDOooooooooooooooooooooooooooooooooog

gboobobobodobOonobobooboboboobooboobobooboobobbooboobo
ugbodgbouodgboooboooon

ubobooboooobooboooooboooooboobooooboooooooo

e 1O00OOODOO

0000000000000 20000 A, e,..., A € RODDOOO0 (A, As,...,A,) 000000000
00 R"00000000R"0-0000000000000000v=(A,A,...,A,) €R*00000
000000000000 (weR™, a,p1,p2,...,pn €R)

v+w = ()\1,)\2,-~-,)\n)+(P1,p2,-.-,Pn) = ()‘1+p17>\2+,02a---,)\n+pn)
av = a(A1, Az, An) = (@A, @, ., a)y)

0000000v+wl ew 00000 000000000 R*O0000OO0OOOOOOO (0,0,...,0)0
0000000000000 0 (Doo0U0oO)DoooUoo0oUOoo0 R*"OnO00OO0OOOOOO
oooooo

oobooR"O0p00000D00OO0ODOOODOODOODOOODOODOOODOOOROOODOO
ugbogbooobooboboboobobobobbobooboobooboobooboboon



e I100OOODOODOO

000 100000000000000000000000000D00O000 [MAL,X])000000000
000000 CAL,A] 0000000000 f € C\,A]0000¢t€ M, A]000f(¢)00000
(f¢) eR)U0D0DO0O0O0OOOOOOOOOUOOODODOOOOOOOOOOUOO Ah=f+g¢g0O00000O
af (e €R) O

(f+9)@) = f(t) +9(t)  (h(t) = F(t) +9(t))
(af)(t) = af(t)

000000C[b0000000000000(f+g)),(af)(t)000 f+g,af0¢t00000000
00000000 [A,X\]00000000000000000000g()=00000

(f+9)(t) = f(t) +9(1) = F{t) +0=f(t)

ubodbouodgbouogbooboobooboon

e 1010ODO

0000000 VOOO000000 vy,vg,...,0, €V, 00000 oq,09,...,a, e KOOOOOOO
oo

QU1 + QU + -+ + Qi Uy,

00000 vy,ve,...,v, 00000 (0000 0O linear combination) 000000

0000000 voooOoOo XO0o000x,2e,...,2, € XO0O0OO0O0O0O0OOO0OO00O0O0OO Span X O
ooooooon

e 10O0DO

0000000 viooooovooobovooooooooooooooooovoboooooooo u
OVOOOOO (subspace) 00 OO000000O0wuj,ue € UO ajug +asug € U (1,00 € K)OOOO
0000 (C00000000 w+u €U, 00000 auel)00D0O0O00OD0O0OOOOOOODOUOODOO
o0oooooonon

00O000Span X (X C V) O

11 +aoxo + - Fanx, (1,29, .2, € X, a1,a0,...,a, € K)

O00000O0s;,s2€Span X OOOOOOOOOOOOODOOO VOODOOOooOoOooooDooO

e 00DODDOODODO
0 v1,v9,...,v, €V, 0000 o, 00,...,0, e KOOOODOOODO 000000000

a1v1 + vz + -+ vy, =0 (1)

000000w; #0 (¢ =1,2,...n) 000000000 wvy,v,...,v, 00000 (0000 0O linearly
dependent)0 o, =00 0000000000000 00O0O0Olinearly independent0 0000000



00000 10000000000000000000O0O0OOOOO0O0 w3 =000 a; =03 #
3), as 200 (1) O0OOODOOOOO

O sin,cosDO00O0O00O000O000O0;sinf+agcos =0000000 o = =00000000
sinf0 cos¢ 00O 0OO00ODOOUO0OO0OOOA=000 ax=000=7/200 y=0000000000
ap=a=0000000000

000000000 1000000000000VO00000000 {v}™; = {v1,v2,...,0,} 0000
0000{y;}™, 000000 vy €VOOODO0O0000000000/{v1,v2,...,0m,Um1} 0000
000000000000000

gbooobooboobobbobb s gbog

11 + .o+ U + Qg 1V =0 (2)
O00000a,e 200000
« o
! v1+...+7mvm+vm+1 =0
Om41 Am41
a7 (67%%%
Um+1 = — v —- " — Um
am+1 am+1

0ooo0 {v»}», 0000000000, 000000000000000000D00000000am41=0
O

a1+ ...+ apv, =0

{v;}», 00000000 q; (i=1,...,m)000000000R)0000 a;=0(i=1,...,m)0000
{v}' 00000000000

oo

UOnO0000O0O0COOOOODOOOn+100000000000000O0nO0000O0O00O0
(dimension) 000000, 000000000O0O00OO00COOOOOOOOOODOOOOOO

oo

O0000O000 F0O0O0OSpan FE=VOOOUOOOFEOVOOO (basis) 000000 OOOOOOO
O000veVD EOOODOOOOOODOEDODVOOODOOOOOVOOOOOOODDOOOOVO
oooobood

uboboobooboobobooboobooboboboberb0O0O0O0O0ODODOn eg,eg,...,e, 00000
goboobooobobdyeVboooooborUDO0OODn+10000000000DO0O00ODO0ODOO

agv + arep + ases + - -+ ape, =0

uobodbUdao,aq,...,a, 0000000000000

v=/y1e1+ Peea+ -+ Bren (Bi=——,i=1,2,...,n)

goooU0oooOoooOoopoUoOoooOooO0ooOoOoOoUooOoOoooUoboUooOOooDB OO0O0O0OoODO
(component) 000000000000 UOOD0ODO e 0000 000000 g;00000000
000000000o0oooUo pg;=p/00000000



ORO00000e = (1,0,...,0), es = (0,1,0,...,0),....en = (0,0,...,1) (¢, 0 iD0D0 1000 0) O
ocooooooooooooooooboooOoo RrRrOOO0O0ODOOODOOO0ODOOOOOOOOOO R
00000 (standard basis) DO OO00O0O

gooano

0 k00000000 (000000), (i=1,2,...,k)0000v € V;00 (v1,v,...,0,) 000000
000000 (000000Cartesian product) 10 0000000000000 VixVax---xV, 000
0000D00000R"0»-00 ROOOOORxRx---xROODO00000000

obooboobooboooboooooboboobbobo20000b000obo0obooobo0ooboOoooboOooonog
ooooboboooboobooooobooooooboog

OWvixWmx...-xV,00000000000000000000O0O0O0O0DOCOOOODOOOOOOO

(w1, wa,...,wg) €V x Vax - x Vi, a€K
oooo
(v1,v2,...,0%) + (w1, wa, ..., wg) = (v1 + w1,v2 + wWwa,. ..,V + W)
a(v1,ve,...,v;) = (a1, aua, ..., qug)

0000000oo0ooooUuooooo W,V 00000000 VvOoOoOoooOO (direct sum)
uaod

V=Viohe el

gbooobooog

0000000 VO0O0OO0OOU X,YOOO (2000000 k00000)OX,YOOOOOOOODOOO
OXnY={0HOoOOOOOODV=XeYOUOOOOOVOOO X,YOOUOOOOOOOO
00000000000000000000 (internal direct sum)D00000000O0 (exteranl direct
Sum)|:||:JDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD—@-DDDDDDDDDDDD
oono

00000 (z,y) eVODOD0DO00000O (2,0)€X, (0,y)eY OO0

(m,y) = (x,O) + (O’y)

0000000V=XeYOOODOODD (OOOOOOV=X4+Y)0OOOOOoo00WV a0 W,V
00000000000000X+Y 000000000000 0000000000000

O0X,YOV=Vel,0000ODO0O00OODO0OD00000W,V,0 X,YOOOOOOOOOOViaeV,="V,+V,
obooooooob2000b000b00boooboobooobooooobobooooboobOooonog
ooooo

oono

000000000000 SO0000z,yeS00<a<1000ax+(1-yOd SOOO0O0OOSOO
(convex) 000D O0OU0OO0OO0ODOOOOOOOOOOO



e 0O0OODO
0000000 V,wWDO0OVOOWwWOoOoOooT (Tw) eW, veV)ODuv,veV,oq,00 € KOOODO

T(Oq?]l + 0421}2) = OélT(Ul) + OéQT(UQ)

O00000000TO0000 (linear map) 100000 (linear operator) 000000000 O0OOO
0000000000000 bobooooDooDooboobOooDooDoooboo vao
0VIOOOO (D000OO0Oendomorphism) 000000000000 000O00O00OOOOOOOOOO
000000 T OOOODOOOTv0OODOOOODOOOUOOOO0OO0OOOOO0O0OOOOOOOOO

0000000000Tw) ewWOOoOoOoOO {T(w)|veV}OO (image) D00 (range) JODOODOO

0T(w)=0000veVOO0O00D0000 (00kernel) 000000000000 Kee7 0000000
(KerT = {v € V|T(v) =0})000000000000000000 00000000 »00000007T
0000 7-'00007-4({0}))000000000000000000000000000000000
0oo

e (10

O0o0ooooVv,wioooovoowiooooooooooooooooov o wooO (isomorphic)
00000000000000000000 (somorphism) 0000000000000 0OOOOOO
O07TO07T(V)=woooOoooooooo

gboboobobooobobobobooboboobobobooboboooboboobobooobo
ubuoggboobodoboobooboobobboboao

oooovowoooooo2-0000000RO0O00O0OO0OOOVOWOOODOOO

e 1OOOOODO

0000000 VvVOoOUOvVOOO0OO0OO00oO00O0o0oO000 (endmorphism) 0000000000000
000 EndVOOODOOODOOOO0O0OOOOOODOOOODOOO0ODOOOODOODOOODOOODO
OO0000EndVOOOOOOOOOODOOO

e OO

0000000 VOO KOOOOOOOOOOOOO (linear functional) 0000000 0O0OO00OOO
doodooooooo vooooo voooooooooooooooooooooooooooono
goooobooooooooooooob b0 b bbb oo ooooooo
(covector) O dual vector 000 O O0000O

oooobobovoobooooobooboo vrOobooooboobooooooooooo

000000 ;000 eeVO00D0 fie;) =06y (i,j=1,2,...,n, e V*)00000006;00
0000000000 (=400 6;=10i#;006,;=000000000000 00000000
0000:00000000000000000f00000000000000000

fo(v) = fa(arer + agea + -+ - + anen) = asfales) = as

gbob:=200000000000
OvOoooOoOooooOooooo0odbOdgev OoOooooOooooDoOO

g(v) = g(alel + ageg + -+ anen)
= ong(er) + aag(e) + -+ + anglen)

= fi(v)g(er) + fa(v)g(ea) + - + fu(v)g(en)



¢g000000000g(e;) D KODODODOD B =g(e;) 0000

g(v) = Brfi(v) + Bafa(v) + -+ Bufu(v)
g=Bifi+Bafo+ -+ Bufn

0000 /00000000000
0£00000000000000MfA+Xfot - +Afa=00¢0000000

Arfi(e:) + Aafalei) + -+ Aufu(ei) =0

oob0:=20000

0= Aafale2) = A2

ooooooan=00000000D0C0O0fK00000D0COCO

OgeV*ODOO00OO f,eV*(file;)=¢;;)0000000000000O0f/0 V000000000
00 vVOUO0OOOO00OD0O0O000D00000000 (dual basis) 0000000

0VOV*00000000000V,V*00000@00000000)0000V+*00000 (V*)*0
000000 V*0000000(V*)*0VO00000000(V*)*0000000 (double dual space)
0o0oooo

ooo0ooOoO0o0o0oDOoO0o0O0 FOOODOOOODOOO

F(v) = Zﬁifi(v) = Z@‘fi(alel + aes+ -+ aney)
i=1

i=1

=Y > Biajfile;)

i=1j=1

= Z Z Bicejdij

i=1 j=1

n
= Z Bicy;
=1

ugooaoo

000000000O00o00o0o0oUo00o0o0VOoOooo0oooUoooooO V*ooooo (000
00)0o0ooooo

000
0000000 VOOO0OO|||DvweV,acKOOODO

o [lav]| = laf |||
o flvtwl <ol +wl] (ODODOD)
ocv=000 || =00|v|=000v=0



0000000000000 000|«|0 0000000000000 000O000O00O00O0OoOOo
(normed space) 00 0O 0O

0000000000 w=-—0000
0= flo—ol <llvll + vl = 2|l

000000+ 00000000000000000000000v=00001000000000
[0l = [|0]f = 1|0 0] = 0o} = ©

000 (0-000000000000)03000v=000 o =00000000000000000
v#000000000000300000000000 (v£0000000000 |jof=0000 v=0
000)0

On000000000RO

2]l = (1] + |z2® + -+ [@a?)/? (2= (21,22, 20) €R?)

00000000000 0000000 (Euclidean norm) 00000000000 OO0OOOOOOOOO
booobooooboobooooboboooboobooooboobooon

0000 R0 a1,2,...,2, 0000000000000000000000000
] = max{la.l, [z2], ..., [z}

000000000000 (maximum norm) 0000000 (infinity norm) 0000000 max 0O { } O
booobooboobuoobuoooboobooo

]| = max |a;]
1<i<n

0000000000000000 z=(3,-1,5)00
] = max{[3],| = 1|, [5]} = 5

0000000000000000000000000000%; =00 |25/ =00000x; =0000
|z =000000000

[az| = max [az;| = max(|af|2;|) = [of max |z;] = |af ||z
000000 |z 4|0 |loe+y 000000000000000000000

— . | = < < . | =
|z + ¥l gﬁ;h«+wl Mk+m|_hﬂ+ﬁml_gﬁiwﬁ+£%§WA [zl + [l



000000000020000000 |k, |yl O |,y 000000000000000000

gboooobobooobobooboboooobooboooboooooboboobobooobobo
uboobouoobogboobooboobod

gooobobobbv=z—y,w=y—z0000

e = 2| < llz = yll + ly — =]

ugbogboodgobooboboabod

o =2l < llz =yl + lly — 2|
—lle—zl= —llz -yl -lly—=|

ly =zl = [l = 2] = [l =y

[ = z[l < [lz = yll + lly — =]l

[z =yl = llz =2l < lly — =]

oooobooboooboooao

Hlz =yl = llz = 2l < [ly — =]|

O000000000000000 (inverse triangle inequality) 0000000

oo

0000000 VOOOOvVxvVOOROOOOdO (u,v,weV)
odv,w)>0 (v=wDOOO 0)
o d(v,w) = d(w,v)
o d(v,u) <d(v,w) + d(w,u)

O0000000d0VODOO (metric) 000000000000 OOOOOOOOOOODOOOOOOOO
obooooboooobobooobooboooooboooo

(v, w) = [lv —w]|

0000000000000 d000dbDv,w0ODODODOO0OO0ODO0ODOODOOOODOOO
0000d00000 (distance function) 0000000000

gooooobooog

0000 {21,22,...} ={x;} (i=1,2,..) 000000000000 VOOOO {»,}000000000
00000000000 MO0000«>0000000000

len — 20l <€ (zo €V, n>N)



00000 N>00000000000 {z}00000 (convergent) D00 002000 (limit) 000
0000OND eD000000000000000000

lim ||z; —z||=0, lim z; =2«
i—00 100

ooogooo

000000000 {«;}00002;, —2; 0000000 (000000D0)000000O0e>00000
000 ¢j>no0 ||zi—x| <eOOOneO0OO0D0DD0000{2,} 000000 (00D O Cauchy sequence)
gooooon

0ai—a; (,j>N)00000000
2; = 25| < llwi — 2l + [lz; — ||
0000000 {z}0000000000000000

im |z — ]| =0
i,j—>00

000000000 |z —2z4||<e00000000O000CO0OO00OOOOOOCOOOOO

goooooon

00000D00000000000VOOOOO0zeVODOODOODO 000000000000 |lz—y|l<r
0000000000 (open bal)O ||z —y||<r000 y0000000 (closed ball) DO D OO (OO
x00000000000)0r=10000000 (unit bal) 000000

0o
0000000 VDOODO (inner product) D0w,w e VOOO (D00000)<v,w>0000000
O00000w,w,w,we €V, a, e KOOMO

o <wv,v>>0 OOOOO

o<v,v>=000v=00v=000 <v,v>=0

o <w,aw; + Pws >=a<v,w; >+ <v,wy> (O000)

o <wv,w>=<w,v> (000)
DDDDDDDDDDDDDDDDDDDDD—DDDDDDDDDDDDDDDDDD(<U,w>|:||]|])|:|

00o000o0o0oooo0ooooooUooUoOoooooooooooooooo (G, ),((),< | >
oooooobooooooo

obooboooobooooooooobooboobooboobOooooooboooboobOoooboOooog
uooobooooboooood

gooobobooooboobobo RrRrPO00O0DOO0OO00O00OO0DbOO0OOOO0ODOObOObObOODO

<xy>=11y1 + oy + -+ Tpyn (2= (21,22, ,20),y = (Y1,Y2,- .-, Yn) € R")

00000000000 2-y0000000000000 (dot product) 0000000000 O< x,2 >
u

<x,x>:x%+x§+~-~+xi



